Calculus — Homework #2 - Answer Key

)

X -3.1 -3.01 -3.001 -2.999 -2.99 -2.9
f(x) -.2485 -.2498 -.2500 -.2500 -.2502 -.2516

-3 X+3

2) L=0 Proof: Find arelationship between £ and J by stating that 0 < |x —a| < Owhere a =3 which gives
you |x - 3| < 0 by substitution. Now state that | f(x) —L| < &. Substitution yields |(6x —18)— (0)| <& . Simplify

to get |6x —18| < £ you must now manipulate this inequality to get |6(x —3)|< & which is equivalent to
g y p

£
6|(x - 3)| < € and finally |x — 3| < % This means that the relationship between O and € is 0= g Therefore, if

0< |x - 3| <8, then 0<|x-3|< % then 6‘x — 3‘ < € then ‘6()6 — 3)‘ < € which can then be written as

|6x—18| < & or |6x —18—0| < £ and finally as |(6x—18)—(0)|< &
3)

X 0.1 0.01 0.001 -0.001 -0.01 -0.1
f(x) 1.0050 1.0001 1.0000 1.0000 1.0001 1.0050

limsecx =1

x—0




4 L=129
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f(x)
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6) 16
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